EARAROBEEIERT — 2 N— IBISH —F

2012F12A70 (&) 9E#AHE5H

(1R R,

‘ [R1%] & ‘ [REBB] — | & (£) 16000 B

[A&4£] 1 7% :1,800,000 23 :540,000 @ 33 :360,000  ~ 43#&:216,000 @ . 5 & :144,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= 54 2 4 3 | SEHEK 1:42.2 6-5-6-5 | 40.1| — 1 497 | EEZEB— (1)
1 2 | TIYAR=-T 56.0 (-) (13) | EEHEAER
L:7A7% B:YLx-—<Zvyia R %S
—: S, t> 5 | KHXS 1:42.2 1-10-9-9 | 39.7 | — 4 469 | taEEZE (1)
2 3| TaLTA g 56.0 (7€) -3 | B w77 —L
RXTHXNXN B%EIZHY Ml 77— L
RN -« - > I : -1-1- — g2 (1)
3 gl FHFRIZ2TI T4 8o (11412/2% L 18 (i:?) #Bﬂﬂé;&
R:€r/07Aa4 BN x— 1@ ek
HRY : -7-7- — EEH (fofE)
al1]1|Vams=on R L I O |xem—
R:TUHA XTI BANFF v KIFHI5
s g N RER 143, -12-12- . — REEAA (WE)
5 NS 3 EHS (11 413/22) 13-12-12-12 40.4 6 :1524) e &
L:7htEy b B:XAYATICVX Fll%s
) e FsEA 43, 55 Al = REHE (I15)
6813 FHY/NT R Koy I ’ ?—571> EEL
L:A—IX1 2214 B:O—XX+v 71— HET77—L4
. i3 | AEEX 1:43.4 14-14-14-14{ 40.2 | — 7 446 | KEEE (fofR)
7 gl EFETY 54.0 (1/2) (-3 | FRMEEX W)
L:g4x 0 bV BiAT7a—d— BLEHIS
i s 3 | WKL 1:43.6 8-9-7-8 |41.3| — 9 454 | AR (AA1S)
8 5 L7 l/. 54.0 (11/2) 1) I1]::psPS )
R:T7NTI5T B:IVHCH-I 2HIT7—L
S At —1t 144, -11-11- . — JNBIEFT (#af5)
9 10 KIA4 KT =Y 4 6 o 1(434)2 10-11-11-10 41.5 5 (i:g) gmﬁ%% &
L:TANVRTyYa B:T7—FIb F—L—-TJv)Xr - T7—LERE
s g 4 6 | HFEA 1:44.3 3-3-2-2 |42.6| — 1M | 477 | FABRBE (1)
10|5]7 | X ARNT =7 _ 56.0 (6 Chy |t
R:TTvr8%Y—F B:5TA—H— Y e
i Y 4 3 | JISEKRER 1:44.4 2-2-2-2 | 42.7| — 3 504 | JISIETT (fa4H)
1115/ 8 Ja)F—-v 56.0 7€) (-o) | FAKEA
LHYIRT TR BT E4-TU=-2X &I E—
S s # 3 | WHEX 1:44. 3-4-4-4 | 42.6| — 2 482 | HllI=S (fat)
120712 * 1 >avA4FI7 54.0 (7€) () | AEEFE )
R:TFATLREA L B:ACSa9FyFE =igis
5 # o8 | ML 1:44.5 7-7-9-11 | 42.0| — 14 | a47 | KIS (B4B)
131814 Ax 56.0 (7€) () | IR ;
LR T b F -G —A—F BFILIH— [af:ebie
4 3 | WWOESR 1:45.0 12-12-13-13| 42.1 | — 12 471 | HEA (1845)
14[7 (11| 7 VAZ— 5.0 2 1/2) o |WDEA
LI TETIMLR Bio=wH A it 455
® 1—F—@EBIERL
13—7+— 4,8,(7,12),13,2,14,(1,5),10,3,11,6,9
2a=5F= 4,8,7,12,(2,13),(1,14),5,3,10, (6,11) ,9
Ja=5= 4,(7,8),12,13,2,(1,5),(3,14),10,6,11,9
43—+ — 4,(7,8),12,(2,13),1,5,3,10,14,6,11,9
[ /N
B 2 150/ 714K 2-3 520M e E 2-3 1,030 JEE 2-3-4 10,270H
B B 2 130M 2-4 1,150H e B 2=3 1,350 3EE 2-3-4 28,530/
3 350M 3-4 6,490 B & 2-3 1,130
4 1,030 B H 2-3 1,280

ABICOVWTRDTEEERROODE. TR LIV,




